Virginia High School League

Scholastic Bowl, 2002-03 season

District Competition, Match #8

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine and Christopher Moretti are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
For 10 points, what 19th century Liberal Prime Minister was the bitter opponent of Benjamin Disraeli?

ANSWER: William GLADSTONE
2.
Its name literally translates to “badger dog” in German.  Bred in two sizes and three coat types, for ten points, what long-bodied, short- legged animal is sometimes referred to as a wiener-dog?

ANSWER:  DACHSHUND (DOCK-shund)

3.
For 10 points, what play by Thornton Wilder is set in Grover’s Corners, New Hampshire?

ANSWER: OUR TOWN
4.
A bond with a face value of $1,000 and face interest rate of 5% is bought for $950. 5.26% is said to be, for 10 points, what property of the bond?

ANSWER: the YIELD
5. 
For 10 points, what Chinese dynasty ruled between 1050 and 256 BC?

ANSWER: CHOU (CHO) or ZHOU
6.
THIS IS A COMPUTATION QUESTION. A group of 10 men includes 4 bearded men, 3 blond men, and 2 blond bearded men.  For ten points, how many are either blond or bearded, but not both?

ANSWER: 3 (4 – 2 + 3 – 2)

7.
This base’s location near the border with Laos and North Vietnam made it an important observational post for American forces. Between January and April 1968, North Vietnamese forces laid siege to the base, and only the intervention of B-52 bombers turned the tide. For 10 points, what was this base whose siege filled the news reports alongside reports of the Tet Offensive?

ANSWER: KHE SANH
8.
For ten points, what series of 44 sonnets, one of which contains the famous line “How do I love thee?  Let me count the ways”, was written by Elizabeth Barrett Browning?

ANSWER:  SONNETS FROM THE PORTUGUESE
9.
As an assistant to Humphry Davy, he discovered benzene, but for ten points, what British scientist gained his greatest fame as a physicist for first demonstrating the principle of induction of an electric current as well as discovering diamagnetism?

ANSWER:  Michael FARADAY
10.
He was chained to a rock below a serpent that dripped venom; his wife Siguna caught the drops in a cup, but when she turned to empty the cup, the venom fell on his face, and he trembled, causing earthquakes.  For ten points, what main god of evil in Norse myth was punished this way because he conspired to kill Balder?

ANSWER: LOKI
11.
In finance, it refers to the face value of a stock or bond. It also refers to an amount or level considered average, as in the phrase “performing up to (BLANK)”. For 10 points, what is this word whose most familiar usage is the number of strokes needed to finish a hole in golf?

ANSWER: PAR
12.
For 10 points, what former Marine colonel was once the chief UN arms inspector in Iraq but is now a bitter opponent of a war against Iraq??

ANSWER: Scott RITTER
13.
She marries Charles Hamilton out of spite, but he dies while training to serve in the Civil War. She marries Frank Kennedy after another man turns her down. All the while, however, she wants to be with Ashley Wilkes, who is married to her friend Melanie Hamilton. For 10 points, who is this woman that eventually realizes she wants to be with Rhett Butler?

ANSWER: SCARLETT O’Hara

14.
For 10 points, what is a mixture that consists of tiny droplets of one substance suspended in another substance?

ANSWER: EMULSIONs

15.
Texas got $10 million for agreeing to give up claims to land outside its current borders. The District of Columbia abolished the slave trade. California was admitted as a free state. The Fugitive Slave Act was passed. For 10 points, what was this Compromise named for the year it was passed?

ANSWER: COMPROMISE OF 1850
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
Who wrote the collection of aphorisms, Beyond Good and Evil?

ANSWER: Friedrich NIETZSCHE (NEET-sha)

1B.
THIS IS A COMPUTATION QUESTION. The side across from angle A of a right triangle triangle is 20.  The side across from angle B of a triangle is 10.  Angle C of the triangle is 60 degrees.  What is the side across from angle C, expressed in reduced radical form?

ANSWER: 10√3

2A.
What name is given to a rock containing enough of a useful substance, usually a metal, to make mining it worthwhile?

ANSWER: ORE
2B.
What geologic process features the deposition of rock fragments suspended in water onto the floor of an ocean, sea, or river plain?

ANSWER:  SEDIMENTATION
3A.
THIS IS A COMPUTATION QUESTION. What is the solution to the equations x + 2y = 25 and 3x + y = 25?

ANSWER: (5,10) or X=5, Y=10

3B.
The Hershey Trust has recently voted not to sell Hershey Foods to what giant Swiss food conglomerate?

ANSWER: NESTLE
4A.
Journalists use what term to describe the splitting of assets of an unmarried couple after the breakup, or the support one partner gives the other after a breakup?

ANSWER: PALIMONY
4B.
 Imprisoned for secretly marrying a top aristocrat’s niece, for ten points, what Metaphysical poet penned the line “therefore never send to know for whom the bell tolls; it tolls for thee” in his Devotions Upon Emergent Occasions?

ANSWER:  John DONNE
5A.
What play is about the struggles of the Younger family to move into a new neighborhood?

ANSWER: A RAISIN IN THE SUN
5B. 
What was the name of the line of fortifications constructed by the French between the two World Wars?

ANSWER: MAGINOT (mah-ZHIH-noh) Line

6A.
What French-Polish composer wrote the F Minor Fantasy, 26 preludes, 60 mazurkas, and 27 études (AY-toods)?

ANSWER:  Frederic CHOPIN (show-PAN)

6B.
THIS IS A COMPUTATION QUESTION. What is x-cubed plus 4x squared plus 4x factored completely?

ANSWER: X(X+2)2 (X times the quantity X plus 2 squared)

7A.
If a star is below the Chandrasekhar (CHAN-druh-SAY-kar) limit of 1.4 solar masses, it will form what kind of very small, bright stellar object?

ANSWER: WHITE DWARF (Black dwarves by definition are not bright)

7B.
It has three hydroxyl groups, enabling it to form three types of esters.  What organic compound, when combined with three molecules of fatty acid, forms a lipid triglyceride?

ANSWER:  GYLCEROL
8A.
THIS IS A COMPUTATION QUESTION. How many integers between 1 and 1000, inclusive, are divisible by 3?

ANSWER: 
333
8B.
Offensive tackle Bryant McKinnie held out for several weeks while negotiating a contract with what NFL team?

ANSWER: MINNESOTA VIKINGS (either is acceptable)

9A.
What country is mostly composed of the delta of the Ganges and Brahmaputra (BRAH-mah-POO-truh) Rivers, and as such is very vulnerable to flooding?

ANSWER: BANGLADESH
9B.
The play The Miracle Worker is about Helen Keller and what lifelong friend and teacher?

ANSWER: Annie SULLIVAN
10A.
What word refers to a distinguished knight-errant, especially those of Charlemagne, to a champion of a cause, or to sports teams from Furman University?

ANSWER: PALADINs

10B. 
Who was the tycoon that founded and led the Standard Oil Company?

ANSWER: John D. ROCKEFELLER
Third period: 15 tossups
1.
A red one is used in Israel to signify their equivalent of the Red Cross.  Also called a magen (MAH-gain), or shield, for ten points, what six-pointed symbol of two superimposed triangles can be found on the Israeli flag?

ANSWER:  STAR OF DAVID (prompt on “Jewish star”)

2.
Atolls, patch reefs, fringing reefs, and barrier reefs are all made by the skeletons of, for ten points, what cnidarian (nih-DARE-ee-an)?

ANSWER:  CORAL
3.
THIS IS A COMPUTATION QUESTION. For 10 points, what is the period of the unmodified tangent and cotangent functions?

ANSWER: π (or 180 degrees)

4.
In Portuguese and French, a c with a cedilla (say-DEE-yuh) under it is pronounced like, for 10 points, what English letter?

ANSWER: S
5.
Economist Alan Garcia is the current president of this country. However, former strongman Alberto Fujimori is considering a comeback in, for 10 points, what country whose capital is Lima?

ANSWER: PERU
6.
Computer programs written in this language have four sections: Identification, Environment, Data and Procedure. In the late 1950s, when it was first developed for business use, it was considered a great leap ahead from the languages then in use. For 10 points, what is this computer language now associated with mainframes?

ANSWER: COBOL
7.
For ten points, who was the British author of “Ode to a Nightingale” and “Ode on a Grecian Urn?”

ANSWER:  John KEATS
8.
The structures on rhinoceroses are composed entirely of keratin, so are not officially considered one of these.  For ten points, what body parts consisting of skin, bone, and keratin protrude from animals such as bulls, giraffes, and rams?

ANSWER:  HORNs

9.
It was introduced in 1963 and was the first cereal to contain marshmallow pieces. The heart is the only marshmallow piece that has not been changed since then. A rainbow has been added, along with a horseshoe and a balloon, to join the original moon, clover and star. For 10 points, what is this cereal that is magically delicious?

ANSWER: LUCKY CHARMS
10.
On July 4, 1826, he died, and his last words were, “Thomas Jefferson survives.” However, Jefferson had died a few hours earlier. During his Presidency, the XYZ Affair nearly got the US into a war with France, and the Alien and Sedition Acts were passed and used to stifle Republican dissent. For 10 points, who was this man who served as President between 1797 and 1801?

ANSWER: John ADAMS
11.
For ten points, what poem opens with the lines “Let us go then you and I / When the evening is spread out against the sky”, and was written by T.S. Eliot? 

ANSWER:  THE LOVE SONG OF J. ALFRED PRUFROCK
12.
The western branch of this barbarian tribe settled in Spain and France, while the eastern branch of this tribe settled in Italy. It is believed, however, that the band Bauhaus and the Cure’s Robert Smith were not among their members. For 10 points, what is this barbarian tribe whose branches were prefixed Visi- (vih-ZEE) and Ostro- (AW-stroh) respectively?

ANSWER: GOTHs (don’t accept Visigoths or Ostrogoths)

13.
Al Jolson popularized this man’s first hit song, “Swanee,” in 1919.  For ten points, what composer went on to create “An American in Paris” and “Rhapsody in Blue” before dying of a brain tumor in 1937?

ANSWER:  George GERSHWIN
14.
The last in-state rival to defeat this university was Oberlin College, coached by John Heisman of Heisman Trophy fame, in 1921. This team’s defense is led by two-time All-American safety Mike Doss. Head coach Jim Tressel is trying to improve last year’s 7-5 record which included a win over archrival Michigan. For 10 points, what is this university which opened its season with victories over Kent State and Washington State, and are known as the “Buckeyes”?

ANSWER: OHIO STATE University (prompt on Buckeyes)

15.
The changing of sugar to ethanol in wine is an example of this kind of chemical process. For 10 points, what is this process which can be applied to any breaking down of molecules by anaerobic microorganisms? 

ANSWER: FERMENTATION (accept fermenting, to ferment, etc.)

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
For ten points, what bronze figure, meant to be part of Auguste Rodin’s (row-DANS) Gates of Hell series, shows a seated naked man with his chin leaning against his fist?

ANSWER:  The THINKER (or Le PENSEUR)

2.
They have a cylindrical body consisting of thirteen segments, with “prolegs” on their abdomens, and smaller ones can actually eat plant cells between the two layers of a leaf’s skin.  For ten points, what name is given to the larvae of a butterfly?

ANSWER:  CATERPILLARs 

3.
For 10 points, what term refers to a number that cannot be the solution of an algebraic equation with integral coefficients, and so therefore must be irrational?

ANSWER: TRANSCENDENTAL
4.
In the sentence “She injured herself when she ran into the goalpost”, herself is, for 10 points, what type of pronoun, which is used when the subject and object of the verb are one in the same? 

ANSWER: REFLEXIVE
5.
For 10 points, what is the largest state, in land area, in Australia?

ANSWER: WESTERN AUSTRALIA
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